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#
## AR model (I=1, k=1) EHIF A
#

data(BLSALLFOOD)

par(mar=c(2,2,3,2)+0.1)
#
BLS120 <- BLSALLFOODI[1:120]
z1 <- arfit(BLS120, plot = FALSE)
tau2 <- z1$sigma2
arcoef <- z1$arcoef

#incasem=15
ml <- z1$maice.order
f <- matrix(0.0e0, m1, m1)
f[1, ] <- arcoef[1:m1]
if (ml!=1)

for (iin 2:m1) f[i, i-1] <- 1
g <- c(1, rep(0.0e0, m1-1))
h <- c(1, rep(0.0e0, m1-1))
q <- tau2[mi1+1]
r <- 0.0e0
x0 <- rep(0.0e0, m1)
v0 <- NULL

1700 1800 1900

1600

10 20 30 40

sl <- tsmooth(BLS120, f, g, h, q, r, x0, v0,

filter.end = 120, predict.end = 156)
sl

plot(s1, BLSALLFOOD)

-10 0

-20

Mean vectors of the smoother and standard deviation

— mean
— +/-5D
— BLSALLFO

i
v
[ [ [ | | [ |
1968 1970 1972 1974 1976 1978 1980
estimation error
________________________________________________________________________________________________________________________ |
|‘ | ‘| l I‘
I I I I I I I
1968 1970 1972 1974 1976 1978 1980

maice.order=15
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# AR order=1
# Mean vectors of the smoother and standard deviation
BLS120 <- BLSALLFOOD[1:120]

z1 <- arfit(BLS120, plot = FALSE, lag=1)
tau2 <- z1$sigma2

arcoef <- z1$arcoef

l L —f—f
m1 <- z1$maice.order l
o

— mean
— — +/-53D
— BLSALLFOH

1800

1800

f <- matrix(0.0e0, m1, m1)
f[1, ] <- arcoef[1:m1]
if (ml!=1)

1700

for (iin 2:m1) f[i, i-1] <- 1 @
g <-c(1, rep(0.0e0, m1-1)) I I I I I I I
h <- c(1, rep(0.0e0, m1-1)) 1968 1970 1972 1974 1976 1978 1980
q <- tau2[m1+1]
r <- 0.0e0 estimation error
x0 <- rep(0.0e0, m1)
vO0 <- NULL g |
sl <- tsmooth(BLS120, f, g, h, q, r, x0, vO,
filter.end = 120, predict.end = 156) @
81 I
o il I| || M
plot(s1, BLSALLFOOD) H‘ | ‘ ‘ |
=
[ [

1968 1970 1972 1974 1976 1978 1980

44



RIZEZ2EREAFA (ARXR#E =5)

# AR order=5

#

BLS120 <- BLSALLFOODI1:120]

z1 <- arfit(BLS120, plot = FALSE, lag=5)
tau2 <- z1$sigma2

arcoef <- z1%$arcoef

ml <- zZ1$maice.order
f <- matrix(0.0e0, m1, m1)
f[1, ] <- arcoef[1:m1]
if (ml!=1)

for (iin 2:m1l) f[i, i-1] <- 1
g <-c(1, rep(0.0e0, m1-1))
h <- c(1, rep(0.0e0, m1-1))
q <- tau2[m1+1]
r <- 0.0e0
x0 <- rep(0.0e0, m1)
vO <- NULL

sl <- tsmooth(BLS120, f, g, h, q, r, x0, vO,
filter.end = 120, predict.end = 156)
sl

plot(s1, BLSALLFOOD)

1700 1800 1800

1600
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— mean
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— BLSALLFO

1968 1970 1972 1974 1976 1978 1980
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, =V F'V!1 s
+Proj(X_ [ V.. (s sV, W pyeen, Wy, ) A= Vi P

n+1jn

L, = Xn|n + Aw(xnﬂ B Xn+1|n)

Z, Y RERT BT

ENERETE, S bl

Proj(x, |Y,) = X, Xon =PTOJ(X, | Yy )
Proj(x, | 3,,,) = Cov(x,,,,, Var(5,,,) " 5,.,, = Proj(Proj(x, [ Z,)[Yy)
Proj(X. [V, seeesVy s W, seery Wy ) =0 = Proj(z, [Yy)

= Xn|n +A1 (Xn+1|N o Xn+1|n)
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B 7LTY XLDEH (&)

Xy — Xyn T Aan+1|N = Xy = Xy T Axmlm
E{(X, = Xon VXaugn = EX(X = X)Xy} =0
EIRBDT
Vi + A E o X H AT =Vao + A B0 A (k)
E{(Xi1 = Xoan )Xo s =0
E{(X, xn|n)x +}=0
E (X in X )
= E{(Xprun = %ot T Xou1 ) Xaaun = Xt + Xo0)' }
=V B X0+ 2E{ (X — X )Xo )
=V + B X3 = 2E{ (Ko = %) Ko = X))
= E{X,.. Xy} —Viin
Iz (x) ITKALT
Vn|N :Vn|n + An(Vn+1|N _Vn+1|n)Ar-1r

n+1jn

n+1

3£)11(2010) p240-242
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hiv<>r 7 4I)LX EFE1

Koo == Xjjo—> Xy Xy Ky 0

!

K== X=Xy Ry =

!

X1|2 -X2|2~ X3|2|:> X4|2|:> ce

!

X1|3 - X2|3 - X3|3 =) X4|3:> e

- B4V 17411/9 m) —HRSTF A
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TAMED B 2355 DT E

L(N)={] : B n % CloEBRICEERFIN BRI S N rhej )

KD EWES I1(N)={L...,.n}
=y, [iel(n)}
((0) =log p(Yy |6)
= D logp(y,|Y,,,6)

nel (N)

f(@)z—l Z {flog27z+log|dnn_1 |+5Tdn|; }

2 nel (N)
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BRI DSBS, REZEEETLEAVNIE (F— 28R
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¢« J4ILRXEX

Dicxlq

LV HEE (REHEERE) »Eond
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RAMEDILIR(y, B R DIHE)

Koo == Xy X500 X300 X400

!

Xy == Xy Xy X

| | | |
X2 Xop == Xy, X4

!

X1|3 X2|3 X3|3 —) X4|3

M
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KANE D i E

\_

2000

1900

1800

1700

1600

1500

2000

1900

1800

1700

1600

1500

AR(1)

N

-

12 23 34 45

56 67 78 89 100 111 122 133 144 155

AR(10)

1

13 25 37 49 61

W

41

e E—

73 85 97 109 121 133 145 157

2000

1900

1800

1700

1600

1500

2000

1900

1800

1700

1600

1500

AR(5)

W

W W

-

13 25 37 49 61

73 85 97 109 121 133 145 157

AR(13)

1 13 25 37 49 61

W

e E—

73 85 97 109 121 133 145 157

J
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1 Z={E & 2 Z=4[E

AR(1) 2ZEAR(2)
21 41 61 81 ° 1 21 41 61 81
AR(3) Partially Observed
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n

X, =F X, _,+G Vv, _{yn(l)}
Vv, =H_ X, +w, ¥a(2)

y (D& Yy, ) BREFICKEE 425 & IER S AL

HIII :Tan
19 mpemn [roo
O 1 /N _O 1 0 .
0 . 100 -
00 V(27N KA 000 .
Tn:<: _ Tn:<:
0 0 000 -
- y, (DA A 010 -
(0 0 \ 000 -
00 M7 XA 000 -
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RICK 3 RAMEDMME (RE : BE))

#
# ARETILICK B RANE DR Mean vectors of the smoother and standard deviation
#

## AR model (I=1, k=1) ARRZKIIBBNRE

#

## Example of interpolation of missing values (AR
model : m=15, k=1)

z2 <- arfit(BLSALLFOOD, plot = FALSE)

tau2 <- z2Ssigma?2

arcoef <- z2Sarcoef

— mean
— +/-5D
— BLSALLFO!

1800

1800

1700

1600
|
e ——
A

#incasem2 =15
m2 <- z2Smaice.order | | | | | T I
f <- matrix(0.0e0, m2, m2) 1968 1970 1972 1974 1976 1978 1980
f[1, ] <- arcoef[1:m2] ) )
if (m2 1= 1) estimation error

for (iin 2:m2) f[i, i-1] <- 1
g <- c(1, rep(0.0e0, m2-1))
h <- ¢(1, rep(0.0e0, m2-1)) & ‘ ‘

| MHJ IM |

g <- tau2[m2+1]
r<-0.0e0 T T | T A S S EI
X0 <- rep(0.0e0, m2) ‘ | |'W

vO <- NULL

D -
A I | I | I I i

1968 1970 1972 1974 1976 1978 1980
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RiCL 2 XANBEDOHRE (ARXE=1)

# AR order=1 Mean vectors of the smoother and standard deviation
z2 <- arfit(BLSALLFOOD, plot=FALSE,lag=1)
tau2 <- z2$sigma?

arcoef <- z2%arcoef

—  mean
#

— +-SD
l — BLSALLFO(
m2 <- z2$maice.order ,

f <- matrix(0.0e0, m2, m2) '. ’.&
I

i

1800 1800
| ]
N ——

VS
-

1700

f[1, ] <- arcoef[1:m2]

- Ry
if (m2!1=1)

for (iin 2:m2) f[i, i-1] <- 1 S | /".

g <-c(1, rep(0.0e0, m2-1)) 3
h <- c(1, rep(0.0e0, m2-1)) I I I I T T
q <- tau2[m2+1] 1968 1970 1972 1974 1976 1978 1980
r <- 0.0e0
x0 <- rep(0.0e0, m2) estimation error
vO <- NULL >

i
tsmooth(BLSALLFOOD, f, g, h, q, r, x0, v0, B -
missed = c(41, 101), np = c¢(30, 20)) 5

=S

o d Ml M ............................... |‘|,H| ....................................

0 HU
(o]
=
I I

I
1968 1970 1972 1974 1976 1978 1980
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—

& 3 AMEDfERE (ARXE=5)

# AR order=5
tau2 <- z2$sigma2
arcoef <- z2%arcoef

#
m2 <- z2$maice.order
f <- matrix(0.0e0, m2, m2)
f[1, ] <- arcoef[1:m2]
if (m21=1)

for (iin 2:m2) f[i, i-1] <- 1
g <-c(1, rep(0.0e0, m2-1))
h <- c(1, rep(0.0e0, m2-1))
q <- tau2[m2+1]
r <- 0.0e0
x0 <- rep(0.0e0, m2)
vO0 <- NULL

tsmooth(BLSALLFOOD, f, g, h, q, r, x0, vO0,

missed = c(41, 101), np = ¢(30, 20))

1700 1800 1800

1600

50 0 50 100 150

-100

Mean vectors of the smoother and standard deviation

|
’!AVA

—— mean
— +/-8D
— BLSALLFO(

1968 1970 1972 1974 1976 1978 1980
estimation error
________________________________________ |‘ ‘l |‘ hl I‘| , ”I
I I I I I I I
1968 1970 1972 1974 1976 1978 1930
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NERRERTET IV

y(t)=1(1)+&(t)
fOO=al) f* P +..+ak)f)+w)

x(t) = (f@), fOn),..., f* Py’

dx(t) = Ax(t)dt + BdW (t)
y(t) = CX(t) + &(t)

0 1 | 0 |

A= ., B=| |,

1 0

ak) ak-1) --- a(l) | 1]
C=[10- 0

X(t) = F(t-s)x(s)+Lt F (t — u)BdW ()

X(t) = Ax(t)

X(t)=F({t—s)x(s)+Gw(t—59)

y(t) = HX(t) + &(t)
G=I, H=[10 - 0]

V(t,s) = Lt F(t—u)BAW(U)

cou(t,8)=7" "F(t—u)BBTF(t—u)' du
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RERIBRIFR € 7L (1)

f ) =dwW (1) HimERTET IV

01 0 1
A: 2 B: ’ ) CT: O
1 0 :
_O 0o --.. O_ _1_ _O_
k-l k2
F(t—u)B= (t-u) (t=u) o t=u 1
k-1! (k-2)!

By tt—u)< (t —u)* B 72 (t — )2
cov(V;(t,s),v;(t,8)) =7 L KDik—j)! du_(2k—i—j+l)!(k—i)!(k—j)!

0(6) = —%{ N log2rz + ZN: logv(t,) + Z (y(t;) —;/I(Xt_(;i t.,)° }

v(t)=HV (t |t_)H' +R




